Find all of the zeros, real and imaginary, of the
function p(z) = z° — 5z — 2.

factors of —2
factors of 1

Find all possible rational zeros:

Possible rational zeros: =2, =1
p(l)= —6 p(—1)=2
p(2)= —4 p(—2)=0

If —2isazeroofz’ — 5z —2thenz +2isa

factor of 2° — 52 — 2.

23 -5z -2=(z+2)(z—c,)(z—c,)



23 -5 —-2=(z+2)(z—c,)(z—c,)

Divide 23 — 5z —2 by z + 2

ﬂ 1 0 — 5 — 2

23— 52 —2=(z+2)(2? -2z —1)

Find the zeros of the quadratic factor

22 -2r-1=0



X

Find the zeros of the quadratic factor

22 —-2x-1=0

—(=2)+ V(=22 —4(1)(=1) _ 2++8 _ 2+ 24/2

2(1) 2 2

1—\/5 or 1+\/§

zeros of z° — 5z —2: { —2, 1—4/2, 1+\/§}

3

z° —b5r—2 = ($+2)($—(1—\/§)($—(1+\/§))



